Annex 1

Business Idea Template

1. Project Description

Briefly describe your product/service.
Note: This information may be used by GITA for distribution to third parties (media, NGOs, donor and partner organizations, potential
investors, etc.)

2. Innovative product/service

2.1 Problem - Describe what problem your product/service solves (limit 50 words)

Define specific problem that your startup is solving, be as specific as possible. Define current "bad" solution. Netflix in 1998 might have answered
this: “Going to the video store requires fighting traffic, wandering the aisles, and waiting in long lines just to get a single movie.”

2.2 Solution - describe how does your product/service solves the problem UNIQUELY (limit 50 words)

This is your opportunity to give us a “sound bite” on your startup. Netflix in 1998 might have answered: “Netflix allows anyone to enjoy
thousands of titles streamed directly to their home or delivered to their mailbox.” (This is not)There should not be a detailed technical
description or a long list of feature. You only have 30 words. Make them count. A good way of thinking about this question is to ask
yourself, “How would a reporter for a business magazine describe us?” Think with a simple business language.

2.3 If you are applying with the same idea as a previous batch(es), did you change anything? (limit 30 words)

3. Target Market

3.1 Opportunity (limit 30 words)(Region, Industry)

There is a real difference between the size of a market opportunity and the size of a market. While both of these are interesting what we care more
about is the market opportunity.

For instance, the team at Tesla saw a market opportunity for electric vehicles. They saw that there was a demand for high-quality electric cars that
was not being met by the existing manufacturers. At the time they did this the market for electric cars the overall size of it was very small. But they
identified a shift in consumer desire / consumer demand. The existing solutions (petrol, diesel, hybrid cards) did not meet the needs of a set of
consumers. That was the market opportunity.

Help us understand three things. First, what has changed in the market that created this opportunity. It could be a technical shift (5G). It could be a
shift in consumer demand or expectations (electric vehices). It could be a regulatory change (GDPR). Second, how big do you think is that opportunity

and why? Third, why is this the time to go after this market opportunity?

A traditional total addressable market service and obtainable market analysis is less interesting than the answers to the three questions above.




3.2 Describe who your existing customers are (limit 30 words)

Give us a very clear and concise definition of your customer. By customer, we mean the person or entity that is going to pay you. Be as specific as you
can. Don’t write “companies.” We want to know “companies with 500-,1,000 employees” or “retail shops with sales of less than 100,000 GEL per
week”

If you are creating a market place, please describe the customer / user on both sides of the market.

3.3 If you don’t have existing customers yet describe who your potential customers are (limit 30 words)

3.4 List who your competitors are (limit 30 words)

Be sure to include both direct and indirect competitors. Direct competitors are solving the same problem as you are solving in a similar way, indirect
competitors are solving the same problem but are doing it in a different way.

3.5 What is your competitive advantage? (limit 50 words)

This is your opportunity to share with us why you are going to become a leader in the marketplace.
How you are different from your competitors?. The big mistake that we see people make when talking about competition is that they claim they
have no competitors. In a global context you certainly have competitors.

Again, like with the benefits the degree to which you can be measured in numbers is always helpful. Saying our product is easier to use than
someone else's, his opinion is not a fact, what we want are the facts. e.g Our competitor charges 20 we charge 10. It takes people two hours to
complete the task with our competitors. it takes our customers 30 minutes.

4. Founders

4.1 List who the founders of the company (are)- role and experience (limit 100 words)

4.2 Who writes code, or does other technical work on your product/service? (limit 30 words)

4.3 Do the founders have experience working together? (limit 20 words)

4.4 How long have each of you been working on the product/service full-time? (limit 30 words)
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